MGRESMEBELCBRNMESERHXR

1% & S ¥ ot 2 K L) ] Bl
o8 : , Bow R R
i A rpm 5 w/h pa X B I E kw
1 1110 14867
2 1554 15579
3 1998 16033 VRIDIES 2
MI650-1550 D 2950 1 2442 16163 6-M16X 400
5 2887 16023
6 3331 15632 YB20OL -2 30
7 3775 15026
1 1341 17013
2 1877 17828
4 b ke YB200L-2 30
MJG60-1800 D 2950 4 2950 18496 8-M20X 500
5 3487 18338
6 4023 17888 YB200L.-2 37
7 4560 17196
1 2996 16216
2 3824 16528 o 2
3 4651 16931 YE220N2 B
WJG100-1650 D 2950 1 5478 17096 8-M22X 500
5 6306 16931
6 7133 16729 YB250M-2 55
7 7960 16216
1 1591 19073
2 2228 19988 YB200L.-2 37
3 2865 20569
MIG70-2000 D 2950 1 3502 20736 8-422% 500
5 4138 20558
6 4775 20054 YB225M-2 15
7 5412 19278
MGEESMEBLHEANMESERHX
# % %o wol ow R | &K w M A
o8 - , R
% K rpa U o'/h pa Mo I # ke
1 3832 20167
2 1648 20383 i 5
3 5237 20576
WJ6135-2000 ) 2950 1 6376 20589 8-¥22 X500
5 7586 20045
6 8835 19862 YB280S-2 75
7 9159 19673
1 2675 21710
2 3502 21810 i
3 4653 22652 TBeA02 T
4 5369 22748
WIG110-215 5 -M22X5
Ji 0 D 2950 5 6328 21653 8-M22 X500
6 6942 20977 )
7 7499 20564 A2B0M2 90
8 9202 19652
1 1295 20803
o e |
WJ6135-2150 5 W22 X5
J6135-215 D 2950 : s i 8-M22 X 500
5 9039 21719 .
6 10225 21461 YB280u-2 90
1 6592 15008
2 7988 15225 — 7%
3 9232 15146
WJG190- 1450 D 2950 A 10547 14878 8-122X 500
5 11654 11552
6 12950 11027 YB280M-2 90
7 14304 13359




MGERESMEBELCIRNMESER G R

t 7 o i ;g i it 2 K it ) Bl
B ® W B R
H R rpm g o'/h pa M o8B I # ke
1 12200 12420
2 13475 12320 S— -
3 11640 12080
WJ6260-1150 D 2950 4 15826 11770 8-M22X 500
5 17000 11410
6 18180 11055 YB280M-2 90
7 19360 10635
1 17580 15950
2 19280 15820 )
3 20950 15500 o 1k
MJG400-1500 D 2950 4 22640 15110 8-M22% 500
5 24330 14640
6 26000 14180 YB315L-2 160
7 27700 13630
1 9210 16550
2 11260 16760
3 13240 16670 VB280N-2 90
MIG280-1600 D 2950 1 15420 16380 10-420 X 500
5 17180 16230
6 18460 15770 YB3158-2 110
7 20350 15510
1 18600 19180
2 20300 19300 YB315L. -2 160
3 21940 18940
MIG430-1800 D 2950 4 23780 18480 8-M22X 500
5 25680 17920
6 27500 17360 YB315L.-2 200
7 29800 16720
MGEBESMEBLOHERNMMEESERASE
. % 5 #% I3 #odt & JE woHo#
By : ‘ oW oE B
VI rpm 7 m'/h pa VI = I & kw
1 23400 19350
2 25660 19140 VEATSIES i
3 27880 18760 .
MJG550-1800 D 2950 4 30130 18290 8-M22 X500
5 32390 17720
6 34600 17150 YB335M.-2 250
7 35200 16800
1 4813 23693
2 6751 23206 VYB280M-2 90
3 9022 23489
MJG210-2200 ) 2950 1 10943 23313 N 8-M22X 500
5 12644 22465 1B3loy2 Lg
6 14397 21237 -
i {5684 ot ¥B3154-2 132
1 6850 21350
2 9240 24600 YB315¥-2 132
3 11200 25000
MIG240-2450 D 2950 1 12560 25220 8-M22X 500
5 14350 24900
6 15480 24500 YB315L.-2 160
7 17380 24200
I 10950 21850 v
2 12200 25100 P
5L 60
3 13450 25500 Wioks2 !
1 14700 25720
- s 5 15950 25760 e
WIG300-2550 D 2950 & s 8-M22 X 500
7 18460 U ,
. o YB315L -2 200
9 20960
10 22200




MGRIRSMEBCBRNMESER#R

& % @ e # & IR wooH H
H 5 OB O OB
P rpm 5 n'/h pa LV I & kw

1 17670 11670
2 21800 11870 . ;
5 a0 it70 YB315L1-4 160

MJ6500-1100 D 1450 4 30000 11460 6-424 X 630
5 34160 10960
6 38280 10450 YB315L2-4 200
7 42410 9880
1 26380 15420
2 33530 15700 ¥YB15051-4 315
3 38680 15560 (6000V)

: MIG700-1500 D 1450 4 44840 15150 6-U24 X 630

5 51000 14490 o
6 57150 13810 *:‘;8333;4 100
7 63300 13030
1 47120 12280
2 53010 12100 YB45081-4 -
3 58900 11830 (6000V)

MJG1100-1100 D 1150 1 64790 11500 6-124 X630
5 70680 11100 ,__.
6 76570 10590 Yhas0350 100
7 82160 10100 §5000%2 .
1 70340 16250 VB 150M2-4 200 _J
2 79130 16020 (6000V)
3 87920 15640 o

WMIG1400-1500 D 1150 1 96720 15210 ) 6-M24 X 630
5 103500 14660 ¥B63051-4 200
6 114300 13980 6000V)
7 123090 13320

SEZE BB B U U R R, G5 B O TE R R BB, BT 5O AU, B,

flp, B, wAL AL T

(D MCERBRSMEBLCHERANERSERAS R

AR BT AR I U IR L R R, YR T

FEGHE 20°C
0oy i &% P 28 =5 B oW o8 R
7 A& rpm & w'/h pa LT T ke
1 108 2396
2 110 2305
3 115 2218
MJG20-210 D 2900 4 118 2162 YB8OM2-2 1.1 6-M16 X400
5 123 2073
6 126 2031
7 129 1917
1 814 4145
2 827 4139
3 841 4121
MIG15-400 D 2500 4 863 4107 YRY0L-2 2.2 6-M16 X400
5 880 4088
6 891 4071
s 908 4062
1 1026 5316
2 1069 5302
3 1145 5284
MJG20-520 D 2900 4 1179 5227 YB100L.-2 3 6-M16 X100
5 1193 5201
6 1255 5167
7 1296 5141
1 1174 1603
2 1391 1684
3 1616 1672
MJG35-450 D 2900 4 1839 1580 YB1328,-2 5.5 6-M16 X100
5 2062 47
6 2281 4297
7 2504 4112




MG RIS MESLOCHEXANMERSERH R

1% L 4 3 d it £ ) # bl
B8 , oW om B
i R rpm 5 m'/h pa X B W O kw
1 1610 5697
2 1932 5768
YB1325,-2 5.5
3 2254 5740 :
1650550 D 2900 4 2576 5639 6-M20X 500
5 2844 5517
6 3166 5323 YB1325.-2 75
7 3488 5080
1 1293 6035
2 1706 5984
3 5114 5869
MJG100-550 D 2900 4 5527 5725 YB160M.~2 15 6-420 X 500
5 5941 5553
6 6349 5381
7 6762 5180
1 2262 7182
2 - 1an VBI6OM,-2 1
3 3167 7236
MJG65-700 D 2900 1 3619 7109 6-M20 X 500
5 3996 6954
6 4448 6709 YBIGOM.~2 15
7 1901 6400
1 6032 7160
2 6612 7546
3 7185 7400
MIG140-700 b) 2900 4 7766 7218 YB200L.-2 30 8-M20 X 500
5 8346 7000
6 8919 6781
7 9500 6521
MIGRBESmMEBLOHERNNERSIERGER
1 7 % # 53 it 2k i ) )
g - : N
I X rpm 5 m'/h pa £ 2 I # kw
1 8588 9698
2 9415 9616
3 10230 9429 YB225M-2 45
JG200-900 D 2950 4 11056 9195 8-420% 500
5 11883 8915
6 12699 8636 :
7 13552 8310 YB2504-2 55
1 3220 9149
2 9869 9265 YB160L-2 18.5
3 1509 9219
MJG100-900 ) 2900 4 5153 9055 8-M20X 500
5 5690 8857
6 6334 8543 YB200L,~2 30
7 6978 8148
1 12292 12427
2 13475 12321 YB2805-2 75
3 14643 12078
MJG280-1100 D 2950 4 15826 11776 8-420X500
5 17009 11415
6 18177 11055 Yh2b0M-2 2
7 19360 10635
1 768 11472
2 1075 12021 - "
3 1383 12371
WJG35-1200 D 2900 4 1690 12471 8-420 X 500
5 1997 12364
6 2304 12061 YBI6OM.~2 15
7 2612 11594




MGERSMEBLRRANMESERASR

& 3 L b5d i it 2 K i %) Bl
LY oM % B
B R rpm 5 m'/h pa LV & kw
1 4610 11717
2 5532 11868 YB200L.~2 37
3 6454 11807
MJG140-1150 D 2900 4 7376 11596 8-M20 X500
5 8144 11340
6 9066 10935 YB225M-2 45
7 9988 10426
1 2580 14500
2 3355 14802
3 3988 14565
MJG90-1350 D 2950 4 4077 14177 YB200L.~2 37 8-M20 X500
5 5410 13681
6 5870 12981
7 6243 12327
1 5538 14993
2 6471 14803
3 7233 14347
MIG140-1400 D 2950 4 7930 13753 YB250M-2 55 8-M20X 500
5 8716 13100
6 8451 12544
7 10140 11752
1 9495 11679
2 10680 14479
3 12705 13901
MJG240-1300 D 2950 4 12869 13239 YB280S-2 75 8-M20 X 500
5 13955 12422
6 14996 11636
7 16318 10879




